| G018 K2 103 &5 A L ATAA 3248 A 43X

SELTWELIELY - MB LML LMAEH - BN EL AL
RS TR R AE L - A T RLAmEH

% — B
EXE RN g -
(2| B£28) (RRAZLEAEL) MT4E A3t E#& R TR ER

smeFSIETRERE, [ FEID

—. R X R J\:ﬁu:,__i;:;}fﬁu b(n,p), BLX 69N 4E B(X)=9, ¥ F Var(X)=6.
A, n e p 2 HNE S 109

—. @ \ B E # BE 4 E(X)=15, B(X?2 ): 241, 3 F|JHl Chebyshev’s inequality 3t
H () PT<X <23)89TH. 69) (2) P(| X — 15> 12)89 LS. 59)

=, BH AL $ SR BT 4o, BRAERBTF IR RIS IR
JEnE, BISEMS A G RAR R B 0.8, ARG RAKN Bl & Btk R R A
0.3, B K& A 60% 69 Fl 5 _LaR4E Tk B8 B IIARE 67 IE_ LA — {2 R %
Gt B MR B A, FRPTIE LR Bl R4 R R R R B £ 0 (109)

W, B EFARARTIEEOREZF )G, AZAR 2 B109. ™ BA 95% 624 &,
HA B 607, KM L FLRARTAH T HREA S Y7 (109)

&, EMEBEHX f'}ij{ FEE R AT
B0<z<

2,
Ix(z) = { s T2< <4,

0, o.w.
(1) &K P(X =3). (59")
(2) ¥ K P11 < X <3). (52)

(3) KX MMZME(X). (59)

—
\

IA

<. SO PR TR FAG TS 5, fu R FA P 644 RS, BRE
644L B 569 F 3% 3 B 161209, 12 Z B 4Ny (BB FAARKE S TR
Pj-ﬂf‘f\f}nn)

(1) FRIFHAKAE 0 =0.05, AT i 4 ’iéﬁ%iﬁ%ﬁi%’;%ii@ 1602297
(3E: i ARAGLH, : p < 160, #ZARZLH, : p > 160) (59°)

(2) F3IH pAh (p-value). (597

(3) ,g,-"f.'?‘]m,]:_/\%,ff*iﬁ’ —F}‘J-ﬁ]’ —]}‘J 162255 urj&fx.&t & t,flﬁ#\‘)t_}] (power).
(547)

. EFRUEHIT B S s T FRA AR a6 &6, e 26 BiAR
HE AR TFRAE O RIFILGIETHIITR, BT ) 120538 H 57
T, FRREHE B E ST R

fffi@, = g X
F (35 35 50
"U’E] oy Bl W AR TR T B A kRS G RAF IR BIA PT AR R 2 ¥4 0.05
B g Z KA, pnf&f%v R Sk, H R, B, BT AT A
ﬂf’é:é‘f-’rr“’wf% (10%°)




4018 K2 103 S5 B RAAFEEIERE A Z R
AYEFIREZELY - Mo P LAY  BRCEZ AR LI
R e iR A mELYE ~ B 4t BNE 2B L3
Ry
r%ﬁ%—ij R AR

(228#28) (RAZEAKEL) @Tﬁiﬁ‘i“f &D?r T 46 A 3t H A4

N, R AR Aoy T, IR 7=3, 52 = D@D o5 2 TG0’ ;
Hy$tobg @7 X5 = 0.1 + 0.72. |

(1) KFgR_ S F? (59)
(2) AP zFoyhy #ﬂﬁ]ﬁ&g{r;,ﬁ%?')f ? (59°)

-l n
= - sl @
3i: T = euml. = Z,; vi

anl

. B Xy, Xy, Xn B F N Bfy(z) = L, 0<2<0, (0+0) Mkey—sariis
K, KD I (1) BEE 59) (2) BABILE (59 a‘imﬁ; T

it ;ﬁﬂ-ﬁ] o fiefe F 9Bt 5 RASFBE A4 T
X5.025 (1) = 5.02 X0.025(2) = 7.38 \é.uz;’,(:*) =9.35  X{§,025(4) = 11.14
X305(1) =3.84  x305(2) =599 x5(3) =781  xZ5(4) = 9.49
Fo05(1,12) =
Fy05(2,12)
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0.0 0000 0040 .00BO 0120 0160 0199 0239 0279 0319 0359
0.0 0398 0438 0478 0517 0557 0596 0636 0675 0714 .0783
02 0793 .0832 .087I 0910 0948 0987 1026 1064 1103 1141
03 179 1217 1255 1293 1331 1368 1406 1443 1480 1517
04 1551 1591 1628 .1664 1700 1736 .1772 .1808 .i1844 1879
05 .1915 1950 .1985 .2019 2054 2088 .2123 2157 2190 224
06 2257 2291 2324 2357 2389 2422 2454 2486 2517 2549
0.7 .2580 2611 2642 2673 2704 2734 2764 2794 2823 2332
0.8 2881 2010 2939 .2967 .2995 3023 3051 .3078 3106 3133
09 3159 3186 3212 3238 3264 3289 3315 3340 3365 3089
1.0 3413 3438 3461 3485 3508 3531 3554 3577 3599 3621
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1.6 4452 4463 4474 4484 4495 4505 4515 4525 4535 4545
1.7 4554 4564 4571 4582 4591 4599 4608 4616 4625 4613
1.8 4641  A64Y 4656 4664 4671 4678 4686 4693 4699 4704
19 4713 4719 4726 4732 4738 4744 4750 4756 A6 4767
20 4772 ATIBE A783 4788 4793 4798 4803 4808 4812 4817
2.1 A4RZ1 4826 483 4834 4818 4842 4846 4850 4854 4857
22 4861 4864 4868 4371 4875 4878 4881 4884 4887 4890
23 4893 4896 4898 4901 4904 4006 4909 4911 4913 4916
24 4913 4920 4922 4925 4927 4929 4931 4932 4934 4936
25 4938 4940 4941 . A943 4945 4946 4948 4949 4951 4952

26 4953 4955 4956 4957 49359 A9GD 496] 4962 4963 4964
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30 4987 4987 49RT 4988 4938 4089 4989 4989 4¢T U 4990 = .
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